SECTION 3-3: DERIVATIVE RULES (DAY 2)

1. Review: Write the Product Rule and the Quotient Rule for differentiation.
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2. Fmd the derivative of each of the following. Use whatever rule you choose. Simplify if you have
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3. Determine the z-value (or values) where the graph f(x) = 3 has a slope of 2.
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4. An ant walking along a sidewalk has traveled s(t) = ¢* — 2¢? inches in ¢ minutes. Find the velocity
and acceleration of the ant (with units).
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5. The concentration of an antibiotic in the bloodstream ¢ hours after being injected is given by
2%+t
C(t) = t3+7+50 where (' is measured in milligrams per liter of blood.

(a) Itis a fact that C(0) = 0 and C(10) = 0.20. Explain what these numbers mean in the context
of the problem.

A Sirst (w)wtﬂDD—H—re; concambdion of clm.ﬂ is O mg/L,
Ten hows lodery +he concumtration o—cclrﬂ is 0.2 ’“j/L.

(b) Itisa fact that C’(10) = —0.018. Interpret this fact in the context of the problem. Use language
a Precalculus student could understand.

ans: ¢’= AC | mg/L | Teh howsd ofda- inediony the Coneuntvatia,

-

A€ s of dvug in +he blood is decreasing at
2 ok Bf 0018 myl s, J

(c) Use the fact from parts (a) and (c) to estimate C'(11).

c(N)® CUN+C )= 0.2 - D018 = 0.182 my/t
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